कार्यालय प्राचार्य

ठाकर शोभासिंह शासकीय महाविद्यालय पत्थलगांव, जिला - जशपुर (छ०ग०)

क्रमाक / ७७ / पो.मै.छात्रवृत्ति / २०१५–१६

पत्थलगांव, दिनाँक - 05:03:2

प्रति

लहायक आयुक्त, आदिचासी विकास. जशपुर (छ.ग.)

पोस्ट मैट्रिक ऑन लाईन छात्रवृत्ति स्वीकृति की जानकारी वर्ष 2015-16 का प्रेषण। विषय -

उपर्युवत विषयान्तर्गत इस महाविद्यालय के छात्र-छात्राओं (कुल 284) की पोस्ट मैट्रिक ऑन लाईन छात्रवृत्ति रयाकृति (वर्ष 2015–16) की जानकारी आवश्यक कार्यवाही हेतु प्रेषित है:-

स्क	वर्ग	संख्य	स्वीकृति राशि	रिगार्क
	अ.ज.जा. (नवीन)	121	517674	
2	अ.ज.जा (नवीनीकरण)	78	365502	
3	अ.जा. (नवीन)	27	110078	
4	अ.जा. (नवीनीकरण)	15	69460	
5	अ.पि.व. (नवीन)	24	59901	
ė.	अ.पि.व (नवीनीकरण)	19	45876	
	योग	284	1168491	

(शब्दा में - ग्यारह लाख अड़सट हजार वार सौ इक्यानवे रूपये मात्र)

सलाम -

- ड्राफ्ट प्रपोजल की सूची।
- खीकृति लॉक की सूची ।
- वः वाय सी रिपोर्ट ।
- प्रमाण पत्र।

(एन०के० उरांव) PRYOUTHELD

शासिकीय सहाविद्यालय मुख्यावाव MS जिलान जशपुर (छ0ग0)

पत्थलगांव, दिनाँक - ७४: 03: 2016

धिकारी पत्थलगांव, जिला जशपुर का सूचनार्थ ।

(एन०के०उरांव)

TENEDRING TO THE PROPERTY OF शासक्रीय महाविद्यासाय विभिन्न विवा १०० विवास विश्वास्त्र विश्वास्त्र १



present of Chhattegath

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: GOVT COLLAGE PATHALGOAN

Academic Year . 2015 - 16

State Government of Chhattisgarh

Sanction Number: N/5/2396/2/7/68620

Applications Type Fiesh

Sanction Date

22/01/2016

								100	4	
	1854	1854	0	2300	230	10	Fresh	B. Sc./Science/I	Male	945665 RAMPRAKASH TOPPO
	1854	1854	0	2300	230	10	Fresh	B. Sc./Science/I	Male	697994 Laxmi Narayan Tirkey
44	1854	1854	0	2300	230	10	Fresh	B. Sc./Science/1	Female	516464 AHILYA BHAGAT
6	1854	1854	0	2300	230	10	Fresh	B. Sc./Science/1	Female	547719 PRIYANKA PAINKRA
8289	3519	3519	0	4770	530	9	Fresh	M. A./Sociology/1	Male	309892 HEERA SAI
8289	3519	3519	0	4770	530	9	Fresh	M. A./Sociology/I	Female	355737 UTTARA KUMARI
6873	3519	3519	0	4770	530	9	Fresh	M. A./Seciology/I	Female	532415 NITU PAINKRA
8289	3519	3519	0	4770	530	9	Fresh	M. A./Sociology/1	Male	1038307 JALANDHAR SINGH
8289	3519	3519	0	4770	530	9	Fresh	M. A./Sociology/I	Female	347602 KIRAN SIDAR
4154	1854	1854	0	2300	230	10	Fresh	B. Sc./Science/I	Male	1122725 LOKNATH RATHIA
8289	3519	3519	0	4770	530	9	Fresh	M. A./Sociology/I	Male	332813 JAI SHANKAR PAINKARA
4104	1804	1804	0	2300	230	10	Fresh	B. A./Arts/I	Male	406727 AJIT KUMAR
4104	1804	1804	0	2300	230	10	Fresh	B. A./Arts/I	Female	344767 ANIMA TIRKEY
4104	1804	1804	0	2300	230	10	Fresh	B. A./Arts/I	Male	238875 ROSHAN LAL RATHIA
3874	1804	1804	0	2070	230	9	Fresh	B. A./Arts/I	Male	193488 Alfons Bara
3874	1804	1804	0	2070	230	9	Fresh	B. A./Arts/I	Male	179649 NIKHIL RAJ PAINKRA
4104	1804	1804	0	2300	230	10	Fresh	B. A./Arts/I	Female	163284 JALSTTA BHAGAT

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed topy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinue Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the apove proposal from he studies or accepts

Date : Place:

(Signature & See of Head of the Institution) Name (Capital Leters) Pathalgaon

Chhattisgarh

anction Register for Scholarship

Gavernment of Chhatospark

Scholarship Scheme Post Matric ST Scholarship

Academic Year 2015 - 16

Institute Name

Category . GOVT COLLAGE PATHALGOAN Sanction Number: N/5/2396/2/7/68620 Sanction Date: 22/01/2016

Applications Type Fresh

State

Government of Chhattisgarh

presion o	. (GEVED)	Service	No.	0-0		renger milita	(1) (3) (1) (1)	Other Pele To	alisee Total	Amount
810020 SUKHDEV SINGH SIDAR	Male	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
1168496 USHA KIRAN LAKRA	Female	B. Sc./Science/I	Fresh	9	230	2070	0	1854	1854	3924
325842 AJAY KUMAR BAIGA	Male	B. Sc./Science/I	Fresh	9	230	2070	0	1854	1854	3924
1110663 NAND KUMAR	Male	B. Sc./Science/I	Fresh	9	230	2070	0	1854	1854	3924
714201 SAVITREE KANWAR	Female	B. Sc./Science/I	Fresh	9	230	2070	0	1854	1854	3924
802419 KUMARI RESHMA KUJUR	Female	B. Sc./Science/I	Fresh	9	230	2070	0	1854	1854	3924
714176 POONAM PAINKRA	Female	B. Sc./Science/1	Fresh	10	230	2300	0	1854	1854	4154
699933 tikeshwari painkra	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
697964 МАМТА КАТНІУА	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
530426 DILESHWAR SIDAR	Male	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
375056 SUKREETA PAINKRA	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
357920 ANAMIKA KINDO	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
340629 lalita bhagat	Female	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
345441 JAGESHWAR RATHIA	Male	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
238805 NEETU RATHIA	Female	B. Sc./Science/I	Fresh	9	230	2070	0	1854	1854	3924
323327 RAMESH KUMAR PAINKRA	Male	B. Sc./Science/I	Fresh	9	230	2070	0	1854	1854	3924
334909 AGASH RAM	Male	B. Sc./Science/I	Fresh	10	230	2300	0	1854	1854	4154
323105 JEET RAM	Male	B. Sc./Science/I	Fresh	9	230	2070	0	1854	1854	3924

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from he studies or accepts sources of the

Date : Place:

(Signature & Seal of Head of the Institution) Name (Capital Laters) : Pathalgaon 3:24 Jashpur(Chhatrisgarh)

This Sanction is generated by Scholarship Portal. Printed on 2/29/2016

inction Register for Scholarship

evernment of Chhattis carh

Scholarship Scheme: Post Matric ST Scholarship

Category ST

Institute Name: GOVT COLLAGE PATHALGOAN

Academic Year 2015 - 16

> Sanction Number State N/5/2396/2/7/68620 Government of Chhattisgarh

Sanction Date: 22/01/2016

Applications Type

Fresh

466983 DILWANTI BAI	418058 DHANMATI NAG	662336 MAJKEL TOPPO	552947 BUDHMANIYA BECK	\$10757 PRADEEP EKKA	1016558 BHUPENDRA PORTEY	714761 savita bai	440305 NEHA PAINKRA	494188 SHIV PRASAD	518632 ABNER KUMAR	142377 LAW DEV SAI PAINKRA	260829 NEEL KUSUM BHAGAT	4968// PALL PUNAM KUJUR	SOLVE GOOLAN PAINKA	ESITOS COLITANA RACHH	736376 BANDANA KACHO	SIDZS: RAJENDRA BRASAD	181236 CHHAYA BATHIA	Strate St
Female	Female	Male	Female	Male	Male	Male	Female	Male	Male	Male	Female	Female	Male	Female	Male	remale	remale	Tapitea
B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. Com./Commerce/1	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Com./Commerce/I	B. Sc./Science/I	B. Sc./Science/I	Compo
Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	adkı
9	10	10	10	10	9	10	10	10	10	10	10	10	10	10	10	10	10	No-off Nonth
230	230	230	230	230	230	230	230	230	230	230	230	230	230	230	230	230	230	News West
2070	2300	2300	2300	2300	2070	2300	2300	2300	2300	2300	2300	2300	2300	2300	2300	2300	2300	
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	S) 798 - OH
1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1854	1804	1804	1804	1804	1804	1854	1854	arts II
1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1854	1804	1804	1804	1804	1804	1854	1854	ibilifee Tora
3874	4104	4104	4104	4104	3874	4104	4104	4104	4104	4214	4104	4104	4104	4104	4104	4154	4154	f Amount

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinuous scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from last sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed topy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the bove proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it will be immediately reported to the authority for eventual discontinuance of scholarship and the scholarshi he studies or accepts

Place: Date :

(Signature & Sept of Leaped Line Institution) Name (Capital Letters) Pathalgaon

Hett-Jashpur(Chhattisgarh)



ction Register for Scholarship

mment of Chhattisgarh

Scholarship Scheme Post Matric ST Scholarship

Category . ST

Institute Name: GOVT, COLLAGE PATHALGOAN

Academic Year . 2015 - 16

State: Government of Chhattisgarh
Sanction Number: N/5/2396/2/7/68620

Sanction Date: 22/01/2016 Applications Type Fresh

139066 POONAM PAINKKA	COLECT MAN AND AND AND AND AND AND AND AND AND A	854278 KAMIA NAG	1123032 DIPTI BAI	717187 archana lakra	738991 POORNIMA PAINKRA	708480 RAM BAI	711959 vinita bai	689907 MARKUSH TOPPO	945649 PRIYANKA SIDAR	1110584 JAMES KINDO	658514 GULAWATI BAI	S61800 TULESHWARI BAJ	COLOR CHICAGO TENER	557077 SHANTI TIBEEN	SJ6373 BAJINA BAGAT	753088 RIDHNI RATSTAR	753215 NEELA BAI NAG	394925 NIRALEE TOPPO	440192 SANTANDEV SAI	The state of the s	
rellidie		Female	Female	Female	Female	Female	Female	Male	Female	Male .	Female	Female	Female	Female	remale	i ciiai	Female	Female	Male	- Gender	
D. A./AILS/1	D A (A+C)T	B A /Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	b. A./Arts/1	D. A./AILS/1	B A /Add IT	B. A./Arts/I		The second second second second
																				III 30	
riesii		Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	. !	Fresh	Wind	
į.		1	16	10	10	10	9	10	10	10	10	9	10	10	9	10	10		D		
		2.	2:	2	2:	2.77	. 74			230	230		230	230	230	230					
230	5	230	230	230	230	230	230	230	230	ŏ	30	õ	õ	õ	õ	ő	Ö	č		Healthard)	
2300	2000	7300	2300	2300	2300	2300	2070	2300	2300	2300	2300	2070	2300	2300	2070	2300	2300	2070	050C	ence) Tolki	5
c		D .	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	c		in Fate (Ob)	oppications type.
1904	1001	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804		or see to	e . Fiesii
1804	1001	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804	1804		Olal Fast Tole	
4014	1	4104	4104	4104	4104	4104	3874	4104	4104	4104	4104	3874	4104	4104	3874	4104	4104	3874		Amount .	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinuation of competent authority. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed oppy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it the studies or accepts sources of the

Place : Date :

(Signature & Salifel Head South Institution)
Name(Gapi(Buleteys) - Pathalgaon
Gyatt-Jashpur(Chhaitisgarh)

